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STE)™ fv b (R FHEEHhER) 51 m
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STE)™ fvb GEHE 1ER) 63 m
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134 L = 1 115,799,974 | F&iEHi O 1 ST
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Bofoe B B A 1 [=]
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HUNER i L X 1 93, 331, 026 | B4 i i 1 X
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([HEE)

-3 - E ta2@d Ui




TR

=CN
=

T
Psi

TH4 | BRE3EHEERK S —/L Fhrxr (Fof) #sk< Z#>TH

TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! R
18-8-40 (f=)F) W/CHEEML ;
B R 140 m2
FEAALRERIFE 300X 900 HIRAHYL
g’ 1 =
BER Yy MLEE
FBLav))-bL 2 1 77,810,810 |2v7)—} 119 m3
24-15-25(20) (G&¥F) ;
/7)) =} 1 =
([H15E5)
24-15-25(20) (G&¥F) ;
i53i0) 9.35 t
SD345 D13 ;
i53i0) 2.18 t
SD345 D16~25 ;
i53i0) 3.22 t
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— i A 35 52 3000kN/m2 70 —~fiE200mmEL L ;
HEELT = 1 1,416, 148
HRHEI T = 1 890, 086 | #fEH! 170 m3
T FruiEAl
FHIA Ob-27) 170 m3
+a +850, 000m3ATH ;
FHIA Ob-27) 170 m3
+4)
LRI T = 1 253,620 | L (W) LE0) 180 m2
BGHNA WE L R OWE ML
P v T = 1 272,442 | F&Hh 170 m3
L (-2

-4 - E ta2@d Ui




il
W
>
%
I

TH4 | BRE3EHEERK S —/L Fhrxr (Fof) #sk< Z#>TH

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
bR 170 m3
0 Cadl- EHIRY £5T) ;
MR B T = 1 50, 266, 817
&% T = 1 50, 266, 817 | HITIEN 64 N
PRIV (VD) k) —HAE AN TIE 67
B fE L 2732L/4 ;
BEJEL v b 90 m3
AN ENFEM RE 10 A
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ZEHTTE 300 X 300 AEAEFLAS KA /Fbem ;
MR A A 246 m
TR 300 X 300 MEPRATAE ;
rAnIHEA L 2 1 52, 346, 268 | BRAHTE A 1,795 m
D25 X 7000 (SD345 Ay*f+) HIFLE 6. 6m/f&T ;
PEEET 2 1 356, 500, 516
e+ T 2 1 4,074,242 |RYEY 1 X
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SD345 D35 ;

ki 37. 56 t
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D32+D35 ;
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TR VERE 1,254 (&
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D19 L=2.98m ;
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FEAm Bk A E AN T 281 AT
D22 L=2.95m ;

TR Bk A E AN T 564 AT
D25 L=2.02m ;

TR Bk A E AN T 410 AT
D25 L=3.07m ;

PR Bk A E AN T 10 AT
D25 L=3. 13m ;

FAm Bk A E AN T 609 AT
D25 L=5.87m ;

FAm Bk A E AN T 582 AT
D29 L=3. 06m ;

Tl e 1 X
—RRA R

B 1 X
BER Yy MLEE

PERETS Pk L 2 1 4,364,634 | FEIE 48 m3

BURIEE WA 55520-13mm ;

KN AT 469 m
ALY oV —%5% VP-75 ;

KN AT 73 m
ALY VS — R4 VP-100 ;

KN AT 229 m
RRA) 9 MRAN -4 VP-100 SEFLAE

% T = 1 1, 114, 650, 637
TEEREA L 2 1 13,621,310 |{E%4EH (FEHD) 55 t

IEAE A CRARD 53 t

FRSAR (FEA) 111 e
TITAY ;

FRSAR AR 128 e
TITAY ;

e AR (T 148 m2

B T GRAD 154 m2
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0B L
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SRR G
[#%[#]
TAT7VIEEERR 30cm% #B 2 40emPL T ;
T LE RS A
[#%[#]
TA77VMERZE IR BREERRIE 40 c m
I
[#%[#]
TATT VIR
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[#%[#]
TA7 7 (HRED

32 t

14 PN

167 m2

8 - i) T

3,718, 393

OIg-pER L
(#4141

27.8 t

MEAT7-1

19, 814, 751
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R HUFLBA T 13 E10
ST ¢ 318. 5 Th—FTa% 4 FE30°
EREHTALB 2 E10
ST ¢ 318. 5 Th—FT 7% 4 FE45°
VANUINEUN 11 m3
L@ VTP YAV 24N/mm2
K =0r v/ 1 =
[#%[#]
FrEXT/0- 44 A
i G
7= T AR 1 X
A Tv-
235 (T/-) 1 =X
UG- Mk L 30. 4 t
[#%[#]
AkE R 1 2V
BER AL 1 X
IR Y- B T = 1 6,230,490 |+ 1 =
(KA
R MHEME ¢ 110 GLAY) X 110em FEHMER (34F
)
+o 5 1 X
(KA
s W ¢ 110 GLAY) X 110em e HMGER (34F
)
y-pEA 20, 800 m2
= 77 v=y-F 43000 ;
N2 1A 680 m
itk H=1. 1m AERFIRR2m Mg - X BRER ;
SE B 1A 8 m
FHRE 874 H=1.5m JEfE7 ny)
EhAE AR AR 120 m2
TAT7VMERZE IR BHEERRE 4 c m
il ARG e 470 m2
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TA77VMERZEIR BEERRIE 10c m

DO 5 m3
TAT 7V

o 1 47 m3
TAT 7V

By 5 m3
TA7 7 (RED

By 47 m3
TA7 7 (RED

A 60 m3
1A EROEASN OB /NS (REHE)

b 60 m3
0 Cabl- EHIRY £5Te) ;

H 1 60 m3
B O-27)

HEL 1 2V

USRI 337 m
L=2000mm 1000kg/{E LA T FF AL ;

KRR 4 m
i FRE 200~400mm ;

BERR HERE1E 1H 0.2 m3
18-8-40 (B JF) ;

B8 A S i 1 X
UBINE: mm R Jf e

[ BBt 3R T 2 1 8, 360, 404 | BhEXHR 3 ST

i G

B8 A S i 1 X
BEEN )P

[tk 1. 2 1 8, 458, 769 | {RE%H" =} VW 32 m

it HEMALHE ;

S S AVENS 35 m
i nEEERE L. Sm

SRR B 45 m
W560 X H814 EEtD Z ;
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lyiEza = 1 380, 648, 614 | {KFXFH A 1 ST
IRER RS B L FERE 352 m
1% B T A B % A 12 1l
ARIEE BT X 1 82, 566, 488 | AT E & i B 1 X
8:00~17:00 ;
AW G B 1 =X
8:00~12:00 ;
AW G B 1 =X
7:00~19:00 ;
AW G B 1 =X
7:00~9:00 16:00~19:00 ;
AW G B 1 =X
20:00~8:00 ;
AW G B 1 =X
22:00~5:00 ;
AW G B 1 =X
2ASHRN (8:00~20:00 20:00~8:00) ;
ARIEH G B 1 =X
3R
AR ER A L = 1 547, 067, 806 | b/t %A L 1 =
s ALER T = 1 943, 250
S BSLERVEZE T =X 1 943,250 |ISESLERVEZET 1 =X
[ERIRE N 2 1 12, 066, 303, 619
B =X 1 1,278,113, 938
Im iR Ex % = 1 381, 840, 248
L Y 1 40, 293, 692 | HEE R B ) MR N G 2 1 2
IEA T 1 =X
L5 A 1 =
- 12 - E A2 FuN 7
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TEHX4y « Tfd - FER B Az W B & #A i il R

SR I FE R 2 2 1 894, 477 | KEFMAE 1 2y

wBHE 2 1 91, 381,895 | & AR 4 1 2V

FAAR AR 4 1 2V

FAKE AR 1 F2V

HeffrE sy = 1 249, 270, 184 | +WbkERERE 1 F2V

FHAIT 1 =
B (FEEHL) = 1 896, 273, 690
T = 1 13, 344, 417, 557
B E X 1 4, 622, 205, 832
T =5l = 1 17, 966, 623, 389
— R A = 1 1,639,516, 611
T =AM = 1 19, 606, 140, 000
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